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201789 = =3 1 3] LESH =&
SM: R EED
Ha: NAWES
el HEHeE2 (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
A& =gt 16,073,283 15,934,670 138,613
= 3,229 3,500 A271
< 10,232 11,500 A 1,268
Al 16,059,822 15,919,670 140,152
ANEWES 5,636,992 5,638,531 A 1,539
= 3,229 3,500 A271
< 232 1,500 A 1,268
Al 5,633,531 5,633,531 0
=2 5,636,992 5,638,531 A 1,539
= 3,229 3,500 A271
< 232 1,500 A1,268
Al 5,633,531 5,633,531 0
SASF HII2 2el 2,281,744 2,281,744 0
301 et a3z 6,464 4,964 1,500
MIIEBE4d3 6,464 4,964 1,500
m2els=x=2 1,500 0 1,500
OSsFHRFIDEE ==& 187,500 =82 1,500 0 1,500
401 Al HIZ 201 8I 4,500 6,000 A 1,500
01 A& HI 4,500 6,000 A 1,500
(m] &) S &k A -1,500,000& A 1,500 0 A 1,500
SEMHHE =H1243 XA 5,461 7,000 A 1,539
= 229 500 A271
< 232 1,500 A1,268
Al 5,000 5,000 0
301 LAz 5,461 7,000 A 1,539
= 229 500 A271
< 232 1,500 21,268
Al 5,000 5,000 0
1JIEt 24 = 5,461 7,000 A 1,539
ENHESS(HHE) =& 23
2 &5,461,000& 5,461 7,000 A 1,539
= 229 500 A271
< 232 1,500 A 1,268
Al 5,000 5,000 0
HOIS0HE 617,565 613,565 4,000
Heg&E=2d 617,565 613,565 4,000
HEg& 2al 583,865 579,865 4,000
405 TtobH S 4,000 0 4,000
01 AL ESFH SH 4,000 0 4,000
mEJISHEE 20l (3mx6m) +
4,000,000 4,000 0 4,000
WREs(KEx=s) 2,468,152 2,332,000 136, 152
WEHHX = 764,152 628,000 136, 152
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el WRAHAHXS (&)

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
=d&E=s 764,152 628,000 136, 152
02 JI=sdES 764,152 628,000 136, 152
0ol=ds= 764,152 628,000 136, 152

mEDJISXeIAIE X5 & FHIASG SOl

et N2 Jl= 764,152 628,000 136, 152
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S =
=g JU= 136,152 0 136, 152
136, 152,000&
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